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University Women's Polytechnic, AMU
Departmental Admission Entrance Test (2018-2019) for the Course

ADV. DIPLOMA IN INTERIOR DECORATION

Time: 2 Hours Date of Test: 05.06.2018 MM: 100
Name of the Candidate: .........ccoivivniiiimiiii e ROIMNO: ool

INSTRUCTIONS FOR CANDIDATES
(i) Attempt ALL questions. All questions have FOUR alternatives, only ONE answer is correct.
(i) Answers must be provided on the Answer Sheet only. Don't make any mark on the quastion paper.

(iii) Negative Marking: Incorrect answers shall resull in a negative score of 25% of the marks allotted to the
question

1. Pick the correct spelt word from below

(a) Cychology (b) Psychologl (c) Psychology (d) Cychologi
2. Pick the correct spelt word from below

(a) Hygeine ' (b) Hyglene (¢) Hygyne (d) Haigene
3. POTRAY means

(3) Express (b) Communicative (c) Paint (d) Draw
4. Give one word for the phrase "One who studies structure of earth rock etc.”

(a) Shy (b) Philologist (c) Versatile (d) Geologist
5. Give one word for the phrase “Animals which gives milk”

(a) Amphibian (b) Herbivorous (c) Mammals (d) Aquatic
6. He poured the tea ............ the mug

(a) On (b) In (c) of {d) Into

7. We must............ help to the people hit by Cyclon:. Choose the correct word from following

(a) give (b) render (c) call (d) decline

8. London is...... by about five million people. Chocse the correct word from following
(a) settled (b) lived i+ (c)inhabited

(d) resided
9. The magic show was the prime attraction for the children and adults ........ Choose the correct word from
following 2
(a) all (b) alike (c) together (d) either
10.  He has been confined........bed for the last three months. Choose the correct word from following
(a)on (b) to ¢ (c)in (d) at
11.  The city was plunged.........darkness due to a sudden power failure, Choose the correct word from following
(a)to (b) in ) (c) Intq (d) on
12. Hemakes his.......... vigit every week. Choose the correct word from followlng.
(a) alternate (b) continuous (c) casual (d) customary
13.  What will you do if YOU wnuucseenns the first prize at this year?
(a) Had ' (b) Win {c) Won (d) Got
14, Tenpe
o o:, l'r‘;ons were feared drowned.....their boat sank In the swollen river. Choose the correct word from
(a) before (b) when mo (c) later (d) after
15.
Nobody............... the little boy of being a thief || MYFOOT.COM
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The old man was too weak to ... up from the ted. Choose the correct word from following

(a) arise (b) rise (c) rose ' (d) risen
He was charged ............ complicity...........the murder case. Fill the blank space with correct words
(a) with, In (b) of, in (c) of, on (d) with, of

"By hook or by crook” means

(a) Wisely (b) Foolishly (c) Cleverly {d) By fair means or foul
Opposite of deficit Is

(a) surplus (b) Explicit (¢) Superfluous (d) Implicit

Find the word or pair of words which is different from the other three words or pair of words.
(a) Hypothesis ' (b) Assumption ' (c) Observation (d) Experiment

Complete the sentence by selecting the most appropriate word from the given options. Peel is to banana
L JR— is to nut

(a) skin (b) shell (c) covering (d) rind
Let us begin ......... a new chapter.
(a) By {b) With (c) From (d) On
A new film has been............
(a) Screened (b) Sighted (c) Put up (d) Filmed
Don't ......... the blood of the innocent.
(a) Flow (b) Spill (c) Waste (d) Kill
ARTIFACT. Give the synonym from the following alternatives _
(a) Synthetic (b) Man-made (¢) Natural (d) Exact copy
He has been living his life according to set pattern. Choose the synonym for the underlined word.
(a) Design (b) Model (c) Conduct (d) Behavior
The opposite of antipathy s
(a) Obedience (b) Fondness (c) Agreement (d) Admiration
He lives in a world of ............
(a) Alluslon {b) lllusions (c) Concluslons (d) Delusions
You are coming to the movie, ... ?
(a) Can’t you {b) Aren’t you (c) Won't you (d) Isn’t it
Opposite of prevent is
(a) Incite } (b) Invite (c) Support (d) Excite
Circumference of a circle is given by .
(@) mr (b) 2rtr {eyme? (d)m/r
One square feet Is equal to how many square inches?
(a) 100 (b) 144 (e)12 (d) 10
If diagonal of a square is 12cm, then Its area Is
(a) 62cm? - (b) 72em? (c) 144cm? (d) 36ecm?
Two fortnight Is equal to
{a) 10 days (b) 15 days (c) 30 days (d) 12 months

How many years does a silver golden have?

11}
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Ten quintal (s equal to

(a) 10kg (b) 100kg (c) 1000kg (d) 1/10kg
The number of sides in a heptagon are

(a) 6 (b)7 (c)8 (d)y
Y+X=1isa

(a) Circle (b) Square (c) Rectangle (d) Straight line
::oar:::.t'nt\r;e:e ‘agr:taozr;:: :‘v::s:‘ ::eizagc welght Is Increased by 1kg when a man of 60kg is replaced by a
(a) S5kg (b) 60kg (c) 68kg (d) 78kg
Which of the following is a prime number?

(@)1 (b) 3 (c)a (d)6

The amount of surface enclosed by a closed figure is called its

(a) Perimeter (b) Area

(c) Flat surface (d) Interior region

The number of radians in an angle subtended by an arc of a circle at the centre is equal to

(a) arc x radius (b) arc / radius (c) radius / arc (d) None of the above
All the angles of a regular polygon are of

(a) 90° (b) 60° (c) 120° (d) Equal measure
Area of floor of a class room will be ...t as the area of roof

(a) Greater ‘ (b) Equal (c) Less (d) None of these

The average age of a class of 40 boys is 16.95 years. A new boy joins the class and the average age now is 17
years. The age of the new boy Is

(a) 18 years (b) 19 years (c) 20 years (d) 10 years
One hectare is equal to
(a) 100 m? (b) 1000 m? (c) 10000 m? (d) 10000 m
If the perpendicular distance of two chords AB znd CD of a circle from its centre are eqi al, then
(a) AB>CD {b) AB < CD (c) AB=CD (d)AB=1/2CD
If the three angles of a quadrilateral are 120°, 1:10° and 10° then the fourth angle Is
(a) 90° (b) 60° (c) 100° (d) Equal measure
11}
If 2x = 3y = 4z, then x:y:zls - ||
(a) 2:3:4 (b) 4:3:2 (c) 6:4:3 (d) 3:4:2 ' MYFOOT.COM
In Roman number system the value of L Is v W nOTESmAfO0T.cOM
(a) 50 (b) 40 (c) 109 (d) None of these

A gardener plants 17956 trees In such a way that there are as many rows as there are trees In a row. The
number of trees in a row are

(a) 136 (b) 134 , (c) 144 (d) 154

The length of a rectangle Is 2cm more than its breadth. The perimeter Is 48cm, the area of the rectangle is
(a) 96 cm? (b) 128 cm? (c) 143 cm? (d) 144 cm?

The number of marble slabs of slze 20 cm x 30 cm required to pave the floor of a square to that of a square
room of side 3mis

(a) 150 {b) 100 {c) 25 (d) 225

How many centimeters are there in one foot?
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e e af an equilateral trlangte Is 2AVAAY,

) 9% o (b)1ave (c) AV6
Thavava ot L0

an (b) = (c)o

# e cogumiterence of a drcle s 152 meters, then s area in m’ls
() 2858 (b) 8956 (¢) 6589

# e dameter of a drcle Is Increased by 100%, its area Is Increased by
Q) 100N (b) 200% (c) 300%

\
e ratie of the radil of two circles I8 1:3, then ratio of thelr areas Is

) 13 (9) 16 (c) 1:9

A Samond anniversary is equal to

(2) 35 years (b) 60 years (c) 50 years
Which colour has the highest wavelength

(a) Red (b) Blue (c) Green
Tkabana'isthe artof

{a) Home decoration (b) Office decoration (c) Flower decoration
Nationzl emblem of Iran is

(a) Kangarco (b) Lion (c) Beach
Green color and red color are examples of

(a) Harmonious (b) Sprint (¢) Analogous

Glass furniture may create the illusion of

(a) Small space (b) Large space (c) Narrow space

Which city is known for its chiken embroldery ?

(a) Ujjain (b) Lucknow (c) Pune

To reflect more light from the ceiling of a room should be painted In

(a) Black colour (b) Pale colour (c) Bright colour

Which one of the following metals has the highest density?

(a) Gold (b) Iron (c) Platinum

Colors that are located near each other on the color wheel are called

(a) Warm (b) Analogous (¢) Primary

Which of the following regions gets no rainfall throughout the year?
(a) The equatorial region

(b) The tundra region
(c) The himalayan region

“ondapalli toys handicrafts industry is located in

(a) Warangal district (b) Kurnool district (c) Jaipur

Which of the follewing rocks are transformed Into marbles?

(a) Granite (b) Limestone (c) Peat

The tallest building of the world Is located In which one of the following countries?

(a) usa (b) UAE (¢) China

What s the standard height of a wall in the residentlal area?

(3) 106" (b) 12°-6" () ROB"

then Its perimeter Is (In meter)

(d) 2v6

(d) -1

(d) 5986

(d) 400%

(d) none of these

(d) 70 years

(d) Violet

(d) Ceiling decoration

(d) Rose

(d) Complementary

(d) Dark space

(d) Surat

(d) White colour

(d) Lead

(d) Complementary

MYFOOT.COM

(d) The Mediterranean region

(¢) Rohtak

(d) Shale

(d) Malaysia

feld aev
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Which of the following aspects of interior design is most important

(a) Reproducing the historic style of the past (b) Non-residential design

(c) Meeting the needs of people who will use the interior (d) Following the most recent trends & fashions
What is texture?

(a) The way a surface looks and feels (b) A solid colour

(c) A type of shape (d) Lines drawn in one colour

Surface of an object is known as

(a) Ground (b) Shape (¢) Volume (d) Texture
RAINBOW is composed of ............ colors
(3)s (b)6 ()7 (d)9

Secondary colours are
(a)e (b)3 (c)4 (d) 2

Bismillah Khan is associated with
(a) Tabla (b) Sarod (c) Flute (d) Shehnai

The flower part that contains the pollen is the
(a) Root (b) Stem (¢) Anther (d) Seed

interior designers use computer and internet for
(a) Managing accounts (b) Photoshop (c) Report making (d) All of them

What should be the average height of door

(a) 6’6" (b) 8’8" (c) 5’6" (d) 9’6"

Which one of the following is the main objective: of the “Green India Mission”?

(a) To enhance carben sinks through large scale (b) To enhance the utilization of renewable energy
afforestation

(c) To promote organic farming by reducing fert lizer use  (d) To phase out use of greenhouse gas

Al sheet is dividing into how many A2 sheets

(a)4 (b)5 {c)2 (d)3

T-square is used to make

(a) Horizontal lines {b) Zigzag lines (c) Vertical lines (d) Curved lines
Carpet area is defined as

(a) Area with walls (b) Area between the walls (c) Total covered area (d) None of these
A great room is ||

(a)} A room with excellent design MYFOOT.COM (1) A lapge eat-in kitchen

() Larger than 20x20 feet (d) A lagge kitchen/dining/ family room space

W V. ROTESMYFOrT.cOM !

Cave Paintings were done during

(a) Modern Times (b)B.C (c)AD (d) Pre Historic Times
The colours (dyes) used In Kalamkari paintings and block prints are made from
(a) Chemical dyes (b) Polyester (c) Fruits (d) Vegetable & minerals
2BHK means

(3a) 1 bedroom, 1 hall, 1 kitchen

(b) 2 bedroom, 2 halls, 2 kitchen
(c) 2 bedroom, 1 hall, 1 kitchen

(d) 2 bedroom, 2 halls, 1 kitchen

Colour wheel has how many primary colours?
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Which Renalssance artist painted one of the world’s most famous painting, Monalisa?

(a) Raphael (b) Michelangelo

Which of the follwoing Is not an accessory?

(a) Tap (b) Sink

The memory in hard disk is

(a) Magnetic (b) Optical a
LaserJet is the name of a '
(a) Company {b) Computer

Tracing paper is

(a) Black (b) Transparent
Plywood is used in

(a) Panels (b) Partitions

CPU stands for

(a) Control Processing unit
(c) Computer Processing unit

100. Which type of colours are used in children’s room

(a) Brlght Colours (b) Dull colours

(c) Betticelli

(d) Leonardo da Vinci

(¢) Bed (d) Lamp

(c) Semi-conductor (d) None
MYFOOT.COM
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(c) Printer (d) Memory Chip
(c) Opaque (d) Semi transparent
(c) Doors

(d) All of them

(b) Central Processing Unit
(d) None of them

(c) Neutral colours (d) All of these
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